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ÍÛæ̃ Û¶ÛÛ :  (1) þùÁéõïõ ¸ÛóÊ¶Û ºõÁõœ÷ýÛÛ©Û ™öé. 

   (2) ›÷ÄõÁõà •Û¨Û©ÛÁõà …×•Ûé¶Ûà ¶ÛÛêµÛ ©Û¾ÛÛÁõÛ ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•ÛÄõ¸Ûé þùÉÛÛÙÈÛÛé. 
 

1. ÍÛäÜ¶Û©ÛÛ…é ©ÛÛ. 01-04-11¶ÛÛ ÁõÛé›÷ ¾ÛÐéüÉÛ ¸ÛÛÍÛé¬Ûà …éïõ ýÛ×ªÛ ½ÛÛ¦øÛ ”ÛÁõàþù ¸Û±ùÜ©Û¬Ûà ”ÛÁõàþùà¶Ûé ©Ûé 
©ÛÛÁõà”Ûé ` 80,000 ˜ÛæïõÈÛà …Û¸ýÛÛ. ¼ÛÛïõà¶Ûà Áõïõ¾Û 10% ÈýÛÛ›÷ ÍÛÜÐü©Û Ðü¸©ÛÛ…Ûé¾ÛÛ× ¶Ûà˜Ûé ¾Ûä›÷¼Û ˜ÛæïõÈÛéÅÛ 
Ðü©Ûà :    14 

    

©ÛÛÁõà”Û `̀̀̀ ÈýÛÛ›÷ ÍÛÜÐü©Û Ðü¸©ÛÛé 

31-03-2012 1,40,000 

31-03-2013 1,30,000 

31-03-2014 1,20,000 

31-03-2015 1,10,000 

 ýÛ×ªÛ ¸ÛÁõ –Û¤ø©Ûà ›÷©Ûà ¼ÛÛïõà¶Ûà ¸Û±ùÜ©Û¬Ûà ÈÛÛÜÌÛÙïõ 10% ÅÛé”Ûé –ÛÍÛÛÁõÛé •Û¨ÛÈÛÛ¶ÛÛé ™öé. Š¸ÛÁõÛéî©Û ÜÈÛ•Û©ÛÛé¶Ûé 
…ÛµÛÛÁéõ ©ÛíéýÛÛÁõ ïõÁõÛé. 

 (1) ÍÛäÜ¶Û©ÛÛ¶ÛÛ ˜ÛÛȩ́ Û¦éø ýÛ×ªÛ ”ÛÛ©Ûä× …¶Ûé ¾ÛÐéüÉÛ¶Ûä× ”ÛÛ©Ûä× 

 (2) ¾ÛÐéüÉÛ¶ÛÛ ˜ÛÛȩ́ Û¦éø ÍÛäÜ¶Û©ÛÛ¶Ûä× ”ÛÛ©Ûä× 
…¬ÛÈÛÛ 

 (A) …Å¸ÛéÉÛé ¶ÛàÅÛ¾Û ¾ÛÛé¤øÍÛÙ ¸ÛÛÍÛé¬Ûà ©ÛÛ. 01-01-2015¶ÛÛ ÁõÛé›÷ ½ÛÛ¦øÛ ”ÛÁõàþù ¸Û±ùÜ©Û¬Ûà ÍÛéïõ¶¦ø Ðéü¶¦ø 
¾ÛÛÄõÜ©Û ï×õ¸Û¶Ûà¶Ûà ÈÛé•Û¶Û…ÛÁõ •ÛÛ¦øà ”ÛÁõàþùà ¾ÛÛé¤øÁõ •ÛÛ¦øà¶Ûà ”ÛÁõàþùà ¸Ûé¤éø ©Ûé¾Û¨Ûé ¶Ûà˜Ûé ¾Ûä›÷¼Û¶Ûà 
Áõïõ¾ÛÛé ˜ÛæïõÈÛà Ðü©Ûà : 7 

©ÛÛÁõà”Û `̀̀̀  

01-01-2015 ÁõÛéïõ¦ø Ýïõ¾Û©Û¶ÛÛ 10% 

30-04-2015 1,78,000 

31-08-2015 1,30,000 

31-12-2015 84,000 

  Ðü¸©ÛÛ¾ÛÛ× 15% ÅÛé”Ûé ÈýÛÛ›÷¶Ûà Áõïõ¾Û¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛýÛéÅÛÛé ™öé. –ÛÍÛÛÁõÛé 20% ÍÛàµÛà ÅÛà¤øà¶Ûà ¸Û±ùÜ©Û 
¾Ûä›÷¼Û •Û¨ÛÈÛÛ¶ÛÛé ™öé. Š¸ÛÁõÛéî©Û ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà 

  …Å¸ÛéÉÛ¶ÛÛ ˜ÛÛȩ́ Û¦éø ¾ÛÛÄõÜ©Û ÈÛé•Û¶Û…ÛÁõ ¾ÛÛé¤øÁõ•ÛÛ¦øà¶Ûä× ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõÁõÛé. 
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 (B) Ðü¸©ÛÛ ¸Û±ùÜ©Û …¶Ûé ½ÛÛ¦øÛ ”ÛÁõàþù ¸Û±ùÜ©Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 4 

 (C) ½ÛÛ¦éø ”ÛÁõàþù ¸Û±ùÜ©Û …¶ÛäÍÛ×µÛÛ¶Ûé ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¸ÛþùÛé ÍÛ¾Û›ÛÈÛÛé : 3 

  (1) ÁõÛéïõ¦ø Ýïõ¾Û©Û 

  (2) ”ÛÁõàþù©Ûà ÈÛ”Û©Ûé ˜ÛæïõÈÛéÅÛ Áõïõ¾Û 

  (3) ÈýÛÛ› 

 

2. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÍÛ¾ÛàÁõ¶ÛÛ ˜ÛÛȩ́ Û¦éø ©ÛÛÁõà”Û 31-03-2015¶ÛÛ ÁõÛé›÷ ¸ÛäÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶Ûä× ïéõ¶®ù 
ÍÛÁõïõÛÁõ¶ÛÛ 12%¶ÛÛ ¼ÛÛé¶¦ø¶Ûä× ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõÁõÛé : 14÷   

 (1) 01-04-2014¶ÛÛ ÁõÛé›÷¶Ûà ¼ÛÛïõà…Ûé 

  ● ¼ÛÛé¶¦ø¶Ûà þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û ` 1,20,000 

  ● ¼ÛÛé¶¦ø¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û  ` 1,26,000   

 (2) ÈýÛÛ›÷¶Ûà ˜ÛæïõÈÛ¨Ûà¶Ûà ©ÛÛÁõà”Û 30¾Ûà ›æ÷¶Û …¶Ûé 31¾Ûà Ü¦øÍÛé¾¼ÛÁõ 

 (3) ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û ¬ÛýÛéÅÛÛ ÈýÛÈÛÐüÛÁõÛé   

©ÛÛÁõà”Û þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û (`̀̀̀) ½ÛÛÈÛ (`̀̀̀) ÜÈÛÉÛéÌÛ ¶ÛÛêµÛ 

01-09-14 40,000 105 ÈýÛÛ›÷ ÍÛÜÐü©Û ”ÛÁõàþùà 

01-10-14 60,000 98 ÈýÛÛ›÷ ¼ÛÛþù ÈÛé̃ ÛÛ¨Û 

30-11-14 20,000 96 ÈýÛÛ›÷ ¼ÛÛþù ”ÛÁõàþùà 

31-01-15 40,000 102 ÈýÛÛ›÷ ÍÛÜÐü©Û ÈÛé̃ ÛÛ¨Û 

  

 (4) ÁõÛéïõÛ¨ÛÛé¶Ûà …Û”ÛÁõ ¼ÛÛïõà¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ‘ºõàºõÛé’ ¸Û±ùÜ©Û ¾Ûä›÷¼Û ïõÁõÈÛÛ¶Ûä× ™öé. 

     …¬ÛÈÛÛ 

 (A) ÁõÛéïõÛ¨ÛÛé¶Ûà …Û”ÛÁõ Í¤øÛéïõ¶Ûà Ýïõ¾Û©Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÈÛÛ ¾ÛÛ¤éø¶Ûà …ÅÛ•Û-…ÅÛ•Û ¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛÛé 
…¶Ûé ‘ºõàºõÛé’ ¸Û±ùÜ©Û¶Ûà ÜÈÛ•Û©Ûé ˜Û˜ÛÛÙ ïõÁõÛé. 7  

 (B) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ ¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 4 

  (1) ÈýÛÛ›÷ ÍÛÜÐü©Û …¶Ûé ÈýÛÛ›÷ ¼ÛÛþù ÈýÛÈÛÐüÛÁõÛé 

  (2) þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û …¶Ûé ¾Ûæ¦øà Ýïõ¾Û©Û 

 (C) ÁõÛéïõÛ¨ÛÛé¶Ûà ”ÛÛ©ÛÛÈÛÐüà ÜÈÛÉÛé ÍÛ¾Û›ÛÈÛÛé. 3 
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3. ©ÛÛÁõà”Û 01-07-2015¶ÛÛ ÁõÛé›÷ ÁõÛ¾Û …¶Ûé ÉýÛÛ¾Û …¶Ûä’õ¾Ûé 3 : 2¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ¶ÛºõÛé-¶ÛäïõÍÛÛ¶Û ÈÛÐêü˜Ûà 
ÅÛéÈÛÛ¶Ûà ÉÛÁõ©Ûé …éïõ ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¾ÛÛ× ›Ûé¦øÛýÛÛ. ©Ûé…Ûé…é ÍÛ×ýÛäî©Û ¼Ûé¶ïõ ”ÛÛ©ÛÛ¾ÛÛ× …¶Ûä’õ¾Ûé ` 1,20,000 
…¶Ûé ` 80,000 ›÷¾ÛÛ ïõÁõÛÈýÛÛ.  14 

  ©Ûé…Ûé…é …éÈÛä× ¶Û‘õà ïõýÛäÚ ïéõ ÍÛ×ýÛäî©Û ¼Ûé¶ïõ ”ÛÛ©ÛÛ¶ÛÛé Š¸ÛýÛÛé•Û ºõî©Û ”ÛÁõàþù-ÈÛé̃ ÛÛ¨Û¶ÛÛ ÈýÛÈÛÐüÛÁõÛé 
¾ÛÛ¤éø ïõÁõÈÛÛé. šýÛÛÁéõ ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¶ÛÛ ”Û˜ÛÛÙ þùÁéõïõ ½ÛÛ•ÛàþùÛÁéõ ¸ÛÛé©ÛÛ¶ÛÛ …×•Û©Û ½Û×¦øÛéÇ¾ÛÛ×¬Ûà ˜ÛæïõÈÛÈÛÛ. 

  ÁõÛ¾Û¶Ûé ¾ÛÛÜÍÛïõ ` 4,000 ÅÛé”Ûé ¸Û•ÛÛÁõ …Û¸ÛÈÛÛ¶ÛÛé ™öé. šýÛÛÁéõ ÉýÛÛ¾Û¶Ûé ©Ûé̈ Ûé ïõÁéõÅÛÛ ÈÛé̃ ÛÛ¨Û ¸ÛÁõ 8% 
ÅÛé”Ûé ïõÜ¾ÛÉÛ¶Û …Û¸ÛÈÛÛ¶Ûä× ™öé. 

  ÁõÛ¾Ûé ` 1,00,000¶ÛÛé ¾ÛÛÅÛ 10% ÈÛȩ́ ÛÛÁõà ÈÛ¤øÛÈÛé ”ÛÁõà²Ûé …¶Ûé ”Û˜ÛÙ¶ÛÛ ` 1,000 ˜ÛæïõÈýÛÛ. ÉýÛÛ¾Ûé      
` 80,000¶ÛÛé ¾ÛÛÅÛ 5% ÈÛȩ́ ÛÛÁõà ÈÛ¤øÛÈÛé ”ÛÁõà²Ûé …¶Ûé ` 800 ”Û˜ÛÙ¶ÛÛ ˜ÛæïõÈýÛÛ. 

  ÉýÛÛ¾Ûé ïéõ¤øÅÛÛéïõ ¾ÛÛÅÛ ` 2,00,000 Ýïõ¾Û©Ûé ÈÛé̃ ýÛÛé …¶Ûé ¸ÛÁõ˜ÛæÁõ¨Û ”Û˜ÛÙ¶ÛÛ ` 200 ˜ÛæïõÈýÛÛ. ¶ÛÐüá 
ÈÛé̃ ÛÛýÛéÅÛÛé ¼ÛÛïõà¶ÛÛé ¼ÛµÛÛé ›÷ ¾ÛÛÅÛ ÁõÛ¾Ûé …×•Û©Û ÈÛ¸ÛÁõÛÉÛ ¾ÛÛ¤éø ` 60,000¶Ûà Ýïõ¾Û©Ûé ”ÛÁõàþùà ÅÛàµÛÛé ©Ûé¾Û›÷ 
ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¶ÛÛ µÛ×µÛÛ ¾ÛÛ¤éø …×Ü¼ÛïõÛ Í¤éøÉÛ¶ÛÍÛÙ …¶Ûé Ü¸Ûó¶¤øÍÛÙ¾ÛÛ×¬Ûà ŠµÛÛÁõ ”ÛÁõàþéùÅÛ Í¤éøÉÛ¶ÛÁõà¶ÛÛ ` 2,000 

˜ÛæïõÈÛà …Û¸ÛÈÛÛ¶Ûä× ÍÈÛàïõÛýÛäÚ. 

  ©ÛÛÁõà”Û 31-12-2015¶ÛÛ ÁõÛé›÷ ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¶ÛÛé µÛ×µÛÛé ¼Û×µÛ ïõÁõà ÜÐüÍÛÛ¼ÛÛé¶Ûà ¸Û©ÛÛÈÛ¤ø ïõÁõÈÛÛ¾ÛÛ× 
…ÛÈÛà. 

  Š¸ÛÁõÛéî©Û ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¶Ûä× ”ÛÛ©Ûä×, ÍÛ×ýÛäî©Û ¼Ûêïõ ”ÛÛ©Ûä× ©Ûé¾Û›÷ ÍÛÐü½ÛÛ•ÛàþùÛÁõÛé¶ÛÛ× 
”ÛÛ©ÛÛ× ©ÛíéýÛÛÁõ ïõÁõÛé.    

…¬ÛÈÛÛ 

 (A) ‘ÁõÛïéõÉÛ’ …¶Ûé ‘ïõÅ¸ÛéÉÛ’ ` 12,00,000¾ÛÛ× …éïõ ¾ÛïõÛ¶Û ¼ÛÛ×µÛÈÛÛ ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¾ÛÛ× ›Ûé¦øÛýÛÛ. ©Ûé¾Û¶ÛÛ 
³ùÛÁõÛ ¬ÛýÛéÅÛÛ ”Û˜ÛÛÙ …×•Ûé ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà …Û¸Ûé ™öé : 7 

   

ÜÈÛ•Û©Û ` ` ` ` ÁõÛïéõÉÛ ` ` ` ` ïõÅ¸ÛéÉÛ 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 3,40,000 2,50,000 

ÜÍÛ¾Ûé¶¤ø 65,000 85,000 

¾Û›æ÷Áõà – 1,35,000 

…ÛÜïÙõ¤éøî¤ø ºõà 50,000 – 

ÅÛÛˆÍÛ¶ÍÛ ºõà – 25,000 

¸ÅÛÛ¶¤ø – 1,00,000 

   ïõÁõÛÁõ ¸ÛæÁõÛé ¬Û©ÛÛ× ‘ïõÅ¸ÛéÉÛé’ ¸ÅÛÛ¶¤ø 50% –ÛÍÛÛÁéõ ¾ÛæÅýÛ …Û×ïõà ©Ûé Ýïõ¾Û©Ûé ÅÛˆ ÅÛàµÛÛé. 
‘ÁõÛïéõÉÛ’¶Ûé ïõÁõÛÁõ Ýïõ¾Û©Û ˜ÛæïõÈÛÈÛÛ¾ÛÛ× …ÛÈÛà. 

   ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ÍÛÁõ”ÛÛ ½ÛÛ•Ûé ÈÛÐêü˜ÛÛýÛ ™öé. ©Û¾ÛÛÁéõ ‘ïõÅ¸ÛéÉÛ’¶ÛÛ ˜ÛÛȩ́ Û¦éø ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ ”ÛÛ©Ûä× 
…¶Ûé ‘ÁõÛïéõÉÛ’¶Ûä× ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõÁõÈÛÛ¶Ûä× ™öé.  

 (B) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé …éïõ)  4 

  (1) …Û¦ø©Û¾ÛÛÅÛ …¶Ûé ÁõÛÉÛ ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û 

  (2) ïõÛ˜Ûä× ÁõÛÉÛ ”ÛÛ©Ûä× 

 (C) ÁõÛÉÛ¶ÛÛ µÛ×µÛÛ¶ÛÛ× ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 3  
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4. (A) ïõ¾¸ýÛä¤øÁõ¶ÛÛ ÜÈÛÜÈÛµÛ ½ÛÛ•ÛÛé …¶Ûé ©Ûé¶ÛÛ× ïõÛýÛÛë ÜÈÛÉÛé ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 7 

      …¬ÛÈÛÛ 
  ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ïõ¾¸ýÛä¤øÁõ¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ÍÛ¾Û›ÛÈÛÛé. 
 (B) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé …éïõ) 4 
  (1) ¤éøÅÛà ¸Û±ùÜ©Û 
  (2) ïõ¾¸ýÛä¤øÁõ¶Ûà ¾ÛýÛÛÙþùÛ…Ûé 
 (C) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé …éïõ) 3  
  (1) Ü¸Ûó¶¤øÁõ¶ÛÛ ¸ÛóïõÛÁõÛé 
  (2) ¤éøÅÛà¶Ûä× ¸ÛóÈÛéÉÛ ³ùÛÁõ 
 
5. …Û¸ÛéÅÛ ÜÈÛÜÈÛµÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ÍÛÛíé¬Ûà ÈÛµÛä ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : (•Û¾Ûé ©Ûé ÍÛÛ©Û) 14 

 (1) ½ÛÛ¦éø ”ÛÁõàþù ¸Û±ùÜ©Û¾ÛÛ× –ÛÍÛÛÁõÛé ïõˆ Ýïõ¾Û©Û ¸ÛÁõ •Û¨ÛÛýÛ ™öé ? 
  (a) ÁõÛéïõ¦ø Ýïõ¾Û©Û (b) ½ÛÛ¦éø ”ÛÁõàþù Ýïõ¾Û©Û 
  (c) ïõÁõÛÁõ Ýïõ¾Û©Û (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÝÐü  
 (2) ½ÛÛ¦éø ”ÛÁõàþù ¸Û±ùÜ©Û¾ÛÛ× ÈýÛÛ›÷ ÉÛé¾ÛÛ× ÍÛ¾ÛÛýÛéÅÛ ¶Û¬Ûà ? 
  (a) ”ÛÁõàþù©Ûà ÈÛ”Û©Ûé ˜ÛæïõÈÛÈÛÛ¶Ûà Áõïõ¾Û (b) Ðü¸©ÛÛ¶Ûà Áõïõ¾Û 
  (c) ½ÛÛ¦éø ”ÛÁõàþù Ýïõ¾Û©Û (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÝÐü  
 (3) ¤éøÅÛà¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõÈÛÛ ÍÛÛíé¬Ûà ¸ÛÐéüÅÛÛ 
  (a) Company Creation¾ÛÛ× ›÷ÈÛä× (b) Ledger Creation¾ÛÛ× ›÷ÈÛä× 
  (c) Accounting Voucher¾ÛÛ× ›÷ÈÛä× (d) Inventory Info¾ÛÛ× ›÷ÈÛä×  
 (4) ¤éøÅÛà¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ©ÛÛÁõà”Û ¼ÛþùÅÛÈÛÛ ¶Ûà˜Ûé¶Ûà ïõà þù¼ÛÛÈÛÈÛà : 
  (a) F2 (b) F11 (c) F5 (d) F6  
 (5) ¤éøÅÛà¾ÛÛ× ›Ûé …Û¾Û¶ÛÛêµÛ ïõÁõÈÛà ÐüÛéýÛ ©ÛÛé …Û¾Û¶ÛÛêµÛ¶Ûä× ¸Ûé›÷ ”ÛÛéÅÛÈÛÛ ¶Ûà˜Ûé¶Ûà ïõà þù¼ÛÛÈÛÈÛà : 
  (a) F7 (b) F5 (c) F8 (d) F6  
 (6) ÁõÛÉÛ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ¾ÛÛÅÛ¶Ûä× ÍÛÛ¾ÛÛ¶ýÛ ¶ÛäïõÍÛÛ¶Û ïõýÛÛ ”ÛÛ©Ûé ŠµÛÛÁõÛýÛ ? 
  (a) ÍÛÛ¾ÛÛ¶ýÛ ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûé (b) …éïõ¸Û¨Û ”ÛÛ©Ûé ŠµÛÛÁõÛýÛ ¶ÛÐüá 
  (c) ÁõÛÉÛ ”ÛÛ©Ûé  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  
 (7) ‘›ÛÐéüÁõÛ©Û ¾ÛÛ¤é’ø¶ÛÛ ÈýÛÈÛÍÛÛýÛ …×•Ûé ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ¾ÛÛ× ›Ûé¦øÛýÛéÅÛ ÅÛÛéïõÛé ïõýÛÛ ¶ÛÛ¾Û¬Ûà …ÛéÇ”ÛÛýÛ ™öé ? 
  (a) …é¦ø-ÈÛé¶˜ÛÁõÁõ (b) ïõÛé-ÈÛé¶˜ÛÁõÁõ (c) ½ÛÛ•ÛàþùÛÁõ (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÝÐü  
 (8) ÈýÛÛ›÷ ÍÛÜÐü©Û ”ÛÁõàþù ¾ÛÛ¤éø ¾Ûæ¦øà Ýïõ¾Û©Û …é¤øÅÛé 
  (a) ›÷é¤øÅÛÛ ¶ÛÛ¨ÛÛ× þùÅÛÛÅÛ¶Ûé ”ÛÁõàþù Ýïõ¾Û©Û ¸Ûé¤éø ˜ÛæïõÈýÛÛ ÐüÛéýÛ ©Ûé 
  (b) ”ÛÁõàþù Ýïõ¾Û©Û – ÍÛ¾ÛÛýÛéÅÛ ÈýÛÛ›÷ + þùÅÛÛÅÛà 
  (c) ”ÛÁõàþù ©ÛÛÁõà”Ûé ¼Û›ÛÁõ Ýïõ¾Û©Û 
  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  
 (9) ›Û¾Ûà¶Û•ÛàÁõà ÈÛé̃ Û©ÛÛ× þùÅÛÛÅÛà ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ¶Ûà˜Ûé¶Ûà Ýïõ¾Û©Û ¸ÛÁõ •Û¨ÛÛýÛ ™öé : 
  (a) þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û ¸ÛÁõ  
  (b) ÍÛÛéþùÛ Ýïõ¾Û©Û ¸ÛÁõ 
  (c) þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û …¶Ûé ÈÛé̃ ÛÛ¨Û¶Ûà Ýïõ¾Û©Û¶Ûà ÍÛÁéõÁõÛÉÛ ¸ÛÁõ  
  (d) ˜ÛÛȩ́ Û¦éø Ýïõ¾Û©Û ¸ÛÁõ  
 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÉÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ÁõÛéïõÛ¨Û¶Ûà ¸Û¦ø©ÛÁõ¾ÛÛ× ¬ÛýÛÛé ¶Û¬Ûà ? 
  (a) þùÅÛÛÅÛà (b) ÈýÛÛ›÷ (c) Í¤éø¾¸Û ¦øÀæ¤øà (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 

___________  
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Instructions : (1) All questions are compulsory. 

   (2) Working note should form part of the answer. 

 

1. Sunita Purchased a machine on 1-4-11 from Mahesh on hire purchase basis and paid         

` 80,000 on that day. He paid the remaining amount including 10% interest in 

installment as under : 14 

Date of Payment `̀̀̀ Installment with Interest 

31-03-12 1,40,000 

31-03-13 1,30,000 

31-03-14 1,20,000 

31-03-15 1,10,000 

 Machine is to be depreciated at 10% p.a. by diminishing balance method. From the 

above information prepare : 

 1. Machine Account and Mahesh’s Account in the book of Sunita. 

 2. Sunita’s Account in the books of Mahesh 

OR 

 (A) Alpesh Purchased a second hand Maruti Wagon-R Car From Nilam Motors on          

1-1-15 on  hire  purchase  Method.  He  had  paid following amounts towards the 

purchase of the car 7 

Date Amount `̀̀̀ 

01-01-15 10% of the Cash Price 

30-04-15 1,78,000 

31-08-15 1,30,000 

31-12-15 84,000 

  Installment Include interest at the rate of 15% per annum. Depreciation is to be 

charged at the rate of 20% as per straight line method. 

   From the above information prepare : 

   Maruti Wagon-R Car Account in the book of Alpesh. 

 (B) Explain the differences between Hire Purchase and Installment systems.  4 

 (C) In connection with Hire-Purchase, Clarify Any Two Term.  3  

   (1) Cash Price (2) Down Payment (3) Interest 
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2. From the following information prepare 12% Central Government Bond Account for 

the year ended on 31-03-2015 in the books of Samir 14 

 (1)  Opening Balance on 1-4-2014 

   Face Value of Bond   ` 1,20,000  

   Cost Price of Bond    ` 1,26,000 

 (2) Date of payment of interest on 30
th
 June and 31

st
 December 

 (3)  Transaction during the year : 

Date 
Face Value              

(`̀̀̀)))) 
Price                

(`̀̀̀)))) 
Remarks 

01-09-14 40,000 105 Cum-Interest purchase 

01-10-14 60,000 98 Ex-Interest sale 

30-11-14 20,000 96 Ex-Interest Purchase 

31-01-15 40,000 102 Cum-lnterest Sale 

 (4) Valuation of closing balance of investment is to be made as per "FIFO" Method. 

OR 

 (A) Explain the various method of valuation of closing stock of investment. Explain  

  FIFO Method in detail in that respect. 7 

 (B)  Write Short notes on any one :  4 

   (1) Ex-interest and Cum-interest transactions. 

   (2) Face-Value and Capital Value 

 (C)  Explain Investment Ledger  3 

 

3.  On 01-07-2015 Ram and Shyam entered into joint Venture with a Condition to share 

Profit and Loss in the ratio of 3:2 respectively. They deposited ` 1,20,000 and ` 80,000 

respectively into their joint bank accounts. 14 

 They decided that joint bank account is to be used for Purchases and Sales, While joint 

venture expenses are to be paid each partner from their private fund. 

 Ram is to be paid a Salary of ` 4,000 Per month and Shyam is to be paid a Commission 

at the rate of 8% on the sales made by him. 

 Ram purchased goods worth ` 1,00,000 at 10% trade discount and paid ` 1,000 as 

expenses. Shyam Purchased goods worth ` 80,000 at 5% trade discount and paid ` 800 

for expenses. 

 Shyam sold some of the goods for ` 2,00,000 and paid ` 200 for sundry expense. 

Remaining unsold goods for ` 60,000 were purchased by Ram for his personal use and 

also accepted to pay ` 2,000 to Ambica Stationers and Printers for Stationery purchased 

on credit from them, for joint venture business. 

 On 31-12-15, the joint Venture business was closed and accounts were settled. 

 From  the above  particulars,  Prepare Joint Venture Account, Joint  Bank Account and 

Co-Ventures Accounts. 

OR 
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3. (A) Rakesh and Kalpesh entered into a Joint Venture to construct a building for           

` 12,00,000. 7 

   They provided following information regarding the expenditure incurred by them. 

Particular (`)`)`)`)    Rakesh  (`)`)`)`)    Kalpesh  

Materials 3,40,000 2,50,000 

Cement 65,000 85,000 

Wages - 1,35,000 

Architect’s fees 50,000 - 

License Fee - 25,000 

Plant - 1,00,000 

  Plant was valued at 50% depreciation at the end of contract and Kalpesh agreed to 

take it at that value. Contract amount was received by Rakesh. Profit and Loss are 

to be shared equally. You are asked to prepare, Joint Venture Account and 

Rakesh's Account in the books of Kalpesh 

 (B) Write Short notes on (Any one) : 4 

   (1) Difference between Consignment and Joint Venture. 

   (2) Memorandum Joint Venture Account.  

  (C) Explain Features of Joint Venture.  3 

 

4. (A) Explain in short about different part of Computer with its functions. 7 

                                                 OR 

   Usefulness of Computers in Accounting 

  

 (B) Write Short notes (any one) : 4  

   (1) Tally Software systems    

   (2) Limitations of Computer 

 (C)  Explain (any one) : 3 

   (1) Types of Printers  

   (2) Gateway of Tally 

 

5. Select most appropriate answer from the alternatives given (Any Seven)  14  

 1. In case of Hire Purchase, the depreciation is Calculated on. 

  (A)  Cash Price  (B) Hire Purchase Price  

  (C) Contract Price   (D) None of the above 

 2. In case of Hire Purchase System, interest is not included in : 

  (A) Down Payment  (B) Installment  

  (C) Hire Purchase Price    (D) None of the above 
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 3. For making use of Tally, We must first go to - 

  (A) Company Creation     (B) Ledger Creation    

  (C) Accounting Voucher       (D) Inventory Info 

 4.  For changing date in Tally, the following key has to be pressed.  

  (A) F2     (B) Fll    

  (C) F5    (D)  F6 

 5.  If Journal entry is to be made in Tally, following key must be pressed to open 

page of journal.  

  (A)  F7     (B)  F5    

  (C)  F8    (D)  F6 

 6.  Normal loss of Goods in Joint Venture is debited to 

  (A)  General Profit and Loss Account  

  (B)  Not debited to any Account  

  (C)  Joint Venture Account  

  (D)  None of the above. 

 7.  The Persons entered into joint venture business of advertising are known as- 

  (A)  Ad-Venturers  (B)  Co-Venturers  

  (C)  Partners  (D)  None of the above. 

 8.  Capital Value in case of Cum-interest purchase means- 

  (A)  The total amount paid to broker as purchase price 

  (B)  Purchase Price – Interest included + Brokerage 

  (C)  Market Price on the date of Purchase 

  (D)  None of the above. 

 9.  While selling securities, brokerage is generally calculated on following price : 

(A)  Face Value  

  (B)  Sales Price  

  (C)  Average of Face Value and Sales Price  

  (D)  Book Value 

 10.  Cost of investment does not include. 

  (A)  Brokerage    (B)  Interest  

  (C)  Stamp Duty  (D)  None of the above. 

__________________ 


